Installation Instructions

Floating Shelf

Stelf-CHade.

0140-24BK | 0140-24WT | 0140-36BK | 0140-36WT

Tools Required (not included):
- Power Drill

- 1/8" Drill Bit or 1/4" Drill Bit

- Screwdriver

- Tape Measure

- Level

Installation Materials (included):

- Floating Shelf
- Backplate
- Mounting Hardware

Load Rating:

- 24" shelf, 50 Ibs when mounted
onto studs

- 36" shelf, 30 Ibs when mounted
onto studs

Stett-Chade.

2700 Oak Industrial Dr. NE
Grand Rapids, MI 49505
800-253-1561

www.kv.com
customer.service@kv.com

Installation:
STEP 1: Select the desired location for the shelf.

STEP 2: Draw a line on the wall, using the level, and then hold the backplate in position
along the line in order to determine where the screw holes will be located. Mark the
positions of the screw holes.
NOTE: If the screws are being driven directly into a stud, pre-drill the screw holes
using a 1/8" drill bit, as shown in Figure 1. (Skip to STEP 3)

NOTE: If the screws are being driven into drywall and not into a stud, drill the screw
holes using a 1/4" drill bit, and then insert the anchors into the holes as shown in
Figure 2.

STEP 3: Mount the backplate to the wall using the screws, as shown in Figure 3.

STEP 4: Slide the shelf onto the backplate, with the screw holes facing down,
as shown in Figure 4.

STEP 5: Align the holes on the bottom of the shelf with the holes in the backplate

tubes, and then tighten the screws through the holes until the shelf is securely
attached to the backplate.

Stud |
<] [«5]
£ £
> >
w w
Figure 1 Figure 2
Backplate Tube
s
R4
. Backplate Tube
Figure 3

Shelf E

| Backplate Tube 1]

[ 777———;—==r=—_—_—_‘~i

[ DG
Figure 4 E

©2015 Knape & Vogt. KV and the KV logo are trademarks of Knape & Vogt. 310457/0715



Instructions d’installation

Tablette flottante Sﬁééf' de&@

0140-24BK | 0140-24WT | 0140-36BK | 0140-36WT

Installation:
ETAPE 1: Choisissez I'emplacement désiré pour la tablette.

ETAPE 2: Tracez une ligne sur le mur a I'aide du niveau, puis placez la plague arriére le
long de la ligne afin de déterminer I'emplacement des trous de vis. Marquez I'emplacement
des trous.

REMARQUE: Si les vis doivent étre vissées directement dans un montant du mur,
pré-percez les trous a I'aide d’une méche de 1/8 po, tel qu'illustré a la Figure 1.

Outils requis (en sus): (Passez 4 'ETAPE 3.)

- Perceuse électrique

-Méche de 1/8 po ou de 1/4 po REMARQUE: Si les vis doivent étre vissées dans un panneau de gypse et non dans un
- Tournevis montant du mur, pré-percez les trous a I'aide d’une meche de 1/4 po, puis insérez les
- Ruban a mesurer ancrages dans les trous, tel qu'illustré a la Figure 2.

- Niveau ETAPE 3: Fixez la plaque arriére au mur a I'aide des vis, tel qu'illustré a la Figure 3.

ETAPE 4: Glissez la tablette sur la plaque arriére, en orientant les trous de vis vers le bas,

Piéces pour installation (incluses): tel quillustré 2 Ia Figure 4

- Tablette flottante )
- Plaque arriére ETAPE 5 : Alignez les trous situés sous la tablette avec les trous des tubes de la plague
- Quincaillerie d’installation arriére, puis enfoncez les vis dans les trous jusqu’a ce que la tablette soit fixée a
la plaque arriére.
Charge maximale:

- Tablette de 24 po: 22,68 kg lorsque fixée
a un montant du mur
- Tablette de 36 po: 13,61 kg lorsque fixée Montant

& un montant du mur 2 “
s 1

,32

Surface
du mur
Surface
du mur

Figure 1 Figure 2

Plaque arriere

i Tube de
Figure 3 la plaque

arriere

© Tablette [
I Tubedela pTaELE arriere |
e T
e — D
Shetf- Cade Figure 4 E

2700 Oak Industrial Dr. NE
Grand Rapids, MI 49505
800-253-1561

custo}nk‘gg.?enm@@ku com ©2015 Knape & Vogt. KV and the KV logo are trademarks of Knape & Vogt. 310457/0715



Instrucciones de instalacion

Estanteria flotante

Stelf-CHade.

0140-24BK | 0140-24WT | 0140-36BK | 0140-36WT

Herramientas requeridas (no incluidas):
- Taladro eléctrico

- Broca de 3 mm (1/8") o de 6 mm (1/4")
- Destornillador

- Cinta métrica

- Nivelador

Materiales para la instalacion (incluidos):

- Estanteria flotante
- Placa posterior
- Equipo de montaje

Capacidad de carga:

- Estante de 60,96 cm, 22,68 kg, cuando se
instala sobre los montantes

- Estante de 91,44 cm, 13,61 kg, cuando se
instala sobre los montantes

Stett-Chade.

2700 Oak Industrial Dr. NE
Grand Rapids, MI 49505
800-253-1561

www.kv.com
customer.service@kv.com

Instalacion:
PASO 1: Seleccione la ubicacion que desea para el estante.

PASO 2: Dibuje una linea en la pared usando un nivelador y luego sostenga la placa
posterior en posicion a lo largo de la linea, para determinar la ubicaciones de los
orificios de los tornillos. Marque las posiciones de los orificios para los tornillos.

NOTA: Si los tornillos se ajustan directamente sobre un montante, perfore previamente
los orificios de los tornillos con una broca de 3 mm (1/8") como se muestra en la
Figura 1. (Dirijase al PASO 3)

NOTA: Si los tornillos se atornillan sobre paneles de yeso y no sobre un montante,
perfore los orificios de los tornillos con una broca de 6 mm (1/4") y luego inserte los
anclajes en los orificios como se muestra en la Figura 2.

PASO 3: Coloque la placa posterior en la pared con los tornillos como se muestra en la
Figura 3.

PASO 4: Deslice el estante en la placa posterior, con los orificios de los tornillos hacia
abajo, como se muestra en la Figura 4.

PASO 5: Alinee los orificios que se encuentran en la parte inferior del estante con los
orificios de los tubos de la placa posterior y, luego, ajuste los tornillos en los orificios
hasta que el estante se adjunte de forma segura a la placa posterior.

Montante |
2 B 2 3
g & 28
2 S =
38 38
Figura 1 Figura 2

Tubo de la
placa posterior & < / o
s OF \
R4
. Tubo de la
Figura 3 placa posterior
L777777777777777777777j
Estante E
[ Tubo de la placa posterior | 1]
[ ——————;===r=77—7—‘~f[
e D
Figura 4 E

©2015 Knape & Vogt. KV and the KV logo are trademarks of Knape & Vogt. 310457/0715



